Pt**2 MC Pid electrons momentum 0.1 - 0.2 |2m0m 0.1-0.2
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Pt**2 MC Pid electrons momentum 0.2 - 0.3 |2m0m 0.2-0.3
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Pt**2 MC Pid electrons momentum 0.3- 0.4

Pmom 0.3-0.4
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Pt**2 MC Pid electrons momentum 0.4 - 0.5

Pmom 0.4- 0.5
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Pt**2 MC Pid electrons momentum 0.5- 0.6

Pmom 0.5- 0.6
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Pt**2 MC Pid electrons momentum 0.6 - 0.8 |2m0m 0.6- 0.8

Entries 28015
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Pt**2 MC Pid electrons momentum 0.8 - 1.0 |2m0m 0.8-1.0
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Pt**2 MC Pid electrons momentum 1.0- 2.0 |2m0m 1.0- 2.0
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’mom 2.0-10.0

Pt**2 MC Pid electrons momentum 2.0 - 10.0

Entries 65164
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Pt**2 MC Pid electrons momentum 10.0 - 150.0 fmMom10.0-150.0
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Mean 0.2263
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Integral 40
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